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Section A (30 x 2 marks = 60 marks)

For each question from 1 to 40, four options are given. One of them is the
correct answer. Make your choice (1, 2, 3 or 4). Shade the correct oval (1, 2,
3 cor 4} on the Optical Answer Sheet provided. '

1. Different metals expand at different rates when heated. ¥ 2 metal strips
are joined together into a bar and heated, they would bend as shown in
the diagram below. -

4 such bars, P, O, R and S, were heated for 2 minutes. The resuits
are shown below. : .

Bar P

BarR Bar S

Key
Metal A Metal B Metal C Metal D

Arrange the four metals starting from the one which expands the most to the
one which expands the feast. ’

(" BM@bDC
@ B C DA
3. DB AC
@ D C AB
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Study the information and answer questions 2 and 3.

Some pupils collected some re
on the material and recorded

cycled material. They did some research
heir findings in the table below.

Material Shape of Facts about the material
material '
PVC - sheet and pipe strong, waterproof, does not float,
sheets are easy to cutand bend
polystyrene block breaks easily, hard to cut floats,
waterproof
nylon fope strong, stretches easily, easy to cut,
does not float .
cotton fope strong, does not stretch, floats, easy
to cut
plywood sheet strong, does not break easily, floats,
| hard to cut, not waterproof
steel spring strongq, very hard to cut

The pupils wanted to use the materials they have collected to build =
swing for cutdoor.

Which material would best be used to make the robes of the swing?

(1) PVC {2)
(3) nylon {4)

polystyrene
colton
Which material would best be used to make the seat of the swing?

polystyrene -
steel

(1) PVC 2)
3) plywood {4)

In the drawing below, two simitar balls, U and V, are mov_ir_lg in the
same direction. Ball V is moving taster than ball U. Ball V hits bafl U.

O —O

What is the fikely outcome when Ball V/ hits ball U?

(1) Ball U moves faster than before in the same direction.
(2)-  Ball V moves faster than before in the same direction.
(3)  Ball U moves faster than before in the opposite direction.
(4)  Ball V moves faster than before in the opposite direction.
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5. The diagram below shows the surrounding of residentiai building, Biock
i.

Bilock 1

J bus

stop _
Residents in Block 1 have to walk across a field to resch the nearest
bus stop. After a few months, Zheng Yang, one of the residants of
Block 1, noticed that an earth path had formed across the field from
Black 1 to the bus stop. :

Which of the following statement(s) explain(s) the formation of the

earth path?
A People walking on the field blocked sunfight from the grass hence
no grass will grow _
B Any new grass plant which may grow was stepped on and killed
by the people walking on the fieid.
C The force of the fooisteps of people walking on the field had
packed the soil particles so tighlly that roots of the grass wilt not
Qrow. T
{1) Aonly ' (73 B only
(3} B and C only (4) A,Band C

6.  Mrs Lim dropped a glass vase. What are the forms of energy present
when the vase hits the concrete floor? '

A light energy

B sound energy

C Kinetic energy
D potential energy

(1) AandBonly ' {2} BandConly
{3) CandDonly (4) 8, Cand D only
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7. The graph below shows how the temperature of the pond water affects
the number of Organism X and Organism Y found in . The number of
Organism X and Organism Y found in the pond below 20% is not
shown in the graph. ' ' :

Number of
Orgarnism

4

3 1 1 ; L t ] 1 »1
t 4 1 1 EaR B ] ¥ i it }

20 25 30 35  Temperature of
" pond water (°c)
The temperature of regions E, F, G and H in the pond 1s indicated in
the key.
Key
— Temperature Range (°c)

Region £ : 32 1o 35
Region F - 28 to 32
Region G : 25 to 28
Region H : 22 to 25

Which of the following ohservations would be observed in the pond
below? .0 ) ' -7

A Region F has the most number of organisms.
B. In Region E, there are more Organism X than Y.
C. More Organism Y than Organism X are found in Region H.

{1) Aonly (2} AandConly
(3) B and C only {4) A, BandC
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10.

Ravi set up an aquarium near the window. There were 5 fish of the
same species and some water piants in the aquarium. Ravi left the sef_
up alone for 1 week. _ '

A week later, Ravi noticed that the fish were surviving well but there
are fewer water plants. ' '

Ravi then introduced Organism S into the agquariumt and left the .
aquanium alone again for another week. After 6 days, there was onty
Organism S in the aguarium.

Which one of the following statements explains his observation after
Organism S was introduced?

(1) The fish are herbivores.

2) .Organism S is an omnivore.

{3} Organism S has used up all the dissolved air in the watey.

{4} Organism S has a disease that infect and kill the fish ar{d the water
' . plants._ -

Weed K are small, unwanted plants growing in the school’s garden.
Which one of the following reasons best explains why we need to
remove them?

{1} Insects wili only poliinaté the flowers of Weed K.

{2 Weed K are more aftractive than the plants in the garden.

{3) Weed K will block suntight from reaching the plants in the garden.
{4 Weed K will compete with the plants in the garden for their basic
needs. :

Rattle' s , scorpion and jerboa{smalf mammal)} are animals found
inthe fesert) _

Which oneof the following condilions listed will affect all these animals
drastically and directly? . - -

(1) Amount of light

{2) Amount of sand

3} Number of trees present

(4) Temperature of the surrounding
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11, The population sizes of 4 different organisms, A, B, C and D were
monitored in 3 habitat over a period of ime.

Population T
. - Time ~ i
The conditions of the habitat prove to be most unfa‘vqggb]e to which
organism? s o
M A 2 B
@ ¢ - . W b

12 Fourballs, P. Q, Rand S, of the same size and volume are released

at the same time from the same height above theground. The bails are
made of different materials as stated in the diagram below.

plastic iron styrofoam copper

Which one of the following statements is comrect?

(1) Qwilt reach the ground first.

{2) Rwillreachthe ground first.

(3}  Qand S will reach the ground faster than P and R.
{4) P,Q,RandS will reach the ground at the same fime.
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Study the information and answer questions 13 and 44,

wet
leaves

dned

Kait Ming conducted an experiment to find out the preferred habitat of
Organism P. 20 Organism P were released into Area X of the round
plastic container shown above. A black cloth was used to cover the
container.

After 3 hours, Kait Ming counted the number of Organism P in each
seclion and plotted his results in a bar graph. :

Number ¢
of
Organism P
T
o £ o = o
& 3 & 5 s 32
_— = 0 1O P w
s 2 m s o
< O o =2 ‘:;_
5 O 5 @ Q.
1 L = o 3
i3
3 ¢

13. - Based on the results, which of the following communities would you
most likely find Organism P?

{1} garden and swamp
{2} free and rolting log

Q) leaf litter and beach

(4) leaf fitter and rotting log
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14, What can Kait Ming do to ensure that his results are relitable?

A Repeat the experiment a few times
B Place food for Organism P in Area X .
C Place 10 Organism P in éach of the & sections of the container
D Cary out the expeniment without covering the container with a
; black cloth
{1} Aonly : ) {(2) C only
{3} Aand B only 4 C and D only

5. Acontainer has a capacity of 5000cm®.
When 3000cm® of water and 3000cm?® of air were introduced into the
container, what is the final volume of water and air in the containes?

B ‘Volume of water {(cm® Volume of air (cm”)
1) 2000 ™. 3000
2 2500 2500
(3) 3000 2000
R TOREE 3000 3000 ]}

6. The diagram below shows 4 beakers of the same size containing
different objects.

’

ping pong issue
balls paper

Water is poured into each beaker at the same time. The water is
poured in at the same rate.

Amange the content of each beaker in order starting from- the one
which will allow the water to overflow in the shortest time first.

{t) sand, water, ping pong balts, fissue paper
(2)  sand, water, fissue paper, ping pong balis
{3) water, sand, tissue paper, ping pong balls
{4} water, ping pong balls, tissue paper, sand
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b7

18.

19.

Meiling set up an experiment as shown below.

tube

. / ved ink drop
capillary '/

round
bottom
flask

When the flask was immersed in a trough of hot water, She recorded
her observation and explained the observation comrectly.

Which one of the following would be Meiling's observation and
explanation? :

Observation Explanation
(1) {Ink-drop dropped and did  { Flask expanded more than the air
' not rise intheflask ]
{2} | Ink drop remained in the Flask and the air within expanded
same posifion equally
(3} | ink drop moved up the Only air expanded and pushed

capifiary tube immediately § the ink drop up

{4) { Ink drop dropped a little Flask expanded first before the
before moving up the air within expanded.

capiilary tube again

Which one of the following statements about the human's skeletal
system is incorrect? '

(1) Teeth is part of the skeletal system.

2) Ribcage protects the heart, lungs and stomach.

3) Spine supporis the body and protects vital organ.

@ Hip bones, skult and ribcage protect vital organs of the body.

Which one of the following statements is comect?
{1} Liver is part of the digestive system.
2 Skin is the fargest organ in cur body.

(3) Stomach has no musdie because it is not far movement.
{4) There are no blood vessels in our brain as it needs not respire.

10
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20.

21.

Chen Wei dropped two similar marbles, A and B, from the same height
onto an uncompressed spring and on a carpeted floor respectively.
Marble A hit and compressed the spring before it bounced twice and
tanded 10cm from the spring on the carpeted floor. Marble 8 hit the
floor, bounced once and landed 4cm from where it first hit the carpeted
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Which of the foliowing statements are true about the two marbles?

Marble A started with greater potential energy than Marble 5.
Kinetic energy of Marble A was converted to elasfic potentiat
energy when it hit the spring.

" After one bounce, ali the energy that Marble B possessed was
converted to heat energy and sound energy.
Marble B had more kinefic energy than gravitational potential
energy as it did not bounce higher than Marbie A

o 0O wre

{(ty Aonly : {2) AandBonly
(3} BandConly {(4) ABCandD )

Which of the following processes require heat energy?

A Melting ice
B Boiling water
C Obtaining salt from sea water
D Condensation of water vapour
{1} Aand8only {2) CandDonly
(3) A BandConly {4) A,BandDonly

1
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22,  The diagram below shows Mr Tan using a pole as a lever o lift 2 fock.
A, B, C and D are positions along the pole. He is unable to lift the rock
when he applied the force at C.

What could he do to enable him to ift the rock?

{1)  Shift the fulcrum {o position B and apply force at C.
(2} Move himself forward and appiy force at B with the fulcrum

positioned at A. : )

{3) Move himsell backward and apply force at D with the filcrum
positioned at A, '

(4 Move himself backward and apply force at D with the fuicrum
positioned at B.

23 The diagram below shows two pupfls, Mary and Nathan, standing on
. tolier skates. Mary is half of Nathan's weight.

Which of the foliowing will happen when they both exert an equal
amount of force towards each othes?

(1)  Both of them will stay at the same spot.
{2}  Mary will move backward but Nathan will move forward.
(3)  Both of them will move away backward at the same speed.
(4} Both of them will move backward but Nathan will move at a
- slower speed.

12
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24. The Venn diagram below shows the types of usefu energy produced
by different electrical devices, A, B, C and D. )

‘Sound
Energy

Light
Energy

Kinetic
Energy

Which one of the following options correclly state the examples of the

devices?
A B C D
{1 doorbell - CbD player tog]t‘;g:fsﬁ mi(:;\(:e\:?ve
{2) toﬁm(:sh co player mic;s:::ve doorbelt
{3) CD player toeo]tiﬁrrti;;h doorbell micg\(:::‘ave
(@)}  doorbelt m-‘cgfj;":"e : ;ﬁg‘;‘l‘;h CO player

25. Study the diagrams below. Four similar loads are moved up the

inclined planes. .
Which one.of the inclined planes requires the least effort to move the

foad? _
T M / @ 7
25" 107
3 ' “

s

35"

A3
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26.  Ethanis trying to find out the effort needed 1o

balance the 100g weight
as shown in the diagram below.

L1

Spring 100g
- Balance :

)

Whal should be the reading of the spring balance?

(1) Gg _ 2) . 160¢g
{3) Less than 100 g (4} _ Greater than 100 g

27.  The diagrams below shows the path of a ball after it was heing thrown

into the air. A, B, C and D are different positions of the balf afong the
path. '

At which position does the bail has the most kinetic energy?

( A (2 B
3 cC 4 D

14
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28. The diagram below shows what happened when three similar bar

magnels were suspended next to one another.

I

A B K L} P Ql

Which of these diagrams show comrectly, what happens when the

magnels are placed next to each other?

0 X o @ T —

]A E_s P Q| A Biaq P
3) \ / {4} / \
B Ala P LB Al [P«

28.  The table below shows different actions and the properties of friction
demonstrated by the actions. A tick (') means the property/propesties

of friction is/are responsible for the respective action.

Friction Friction Friction siows | Friction
produces opposes down motfion | wears down
heat motion | surfaces
A | Sharpening a Vv
knife :
B | Engaging a v v
car's brakes . .
C | Striking a v
matchstick
B | Holding a gtass
cup in your v’ v
hand

Which of these actions are comectly matched to the properties of
fiiction which they demonstrate?

(i} AandBonly . (2 BandConly
{3}y CandDonly - _ 4 A BandConly

15
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30,  Which one of the following shows the carrect example of plants and the
part where the food is stored?

Leaves Stem Root Fruit
(1) i cabbage cucumber sweet potato cormn
(2} | lettuce onion . turnip : chilli
{3) | spinach - | potato ginger ' tomato
{4} | mustard ) carrof . yam mango

16
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Section B {40 marks)
Write your answers to questions 31 to 46 in the spaces provided,
Marks wilt be deducted for misspelt key words.

31. Emily set up an expernment as shown below.

conical
flask

T

Setup B

Each conical fiask contained 100mi of water. Emily recorded that it took
10 minutes for the water in Set-up A to boil.

{a) By adding a wire gauze in Set-up B, how will it affect the time
faken for the water {o boil? : (1 mark)

(b}  Explain your answer in (2). ' {1 mark)

18
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32.  Study the classification chart below.

takes m carbon dioxide and gives out !
oxygen when making food

4

rhas entire edge , has toothed-edge J

has lobed-edge

hd Y

pollinated by i , pollinated byJ

anmmals wind

¥ i r

fity spiger lily
tuiip bird’s nest fermn

b

hibiscus clover
balsam papaya

{a}  Which part of the plant “takes in carbon dioxide and gives out
oxygen when making food™? (1 mark)

(b}  Identify the plant that has been Qassified wrpngly. (1 mark)

{c}  Give 1reason why the plant is classified wrongly. {1 mark)

19
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33. Halim placed 10 guppies into each of the 4 Squariums, P, Q. R and S.
He added different amount of acid into the aquariums and recorded the
acidity of the water in each aquarium. He also ensured that the guppies
had encugh food throughout the experiment. '

Start of expéﬁment

| Aquarium | Amount of acid | Acidity of water Number of
added {ml) {(pH} . guppies alive

P 0 7 10

Q ' 10 5] 10

R 20 5 10

S 30 4 10

pH scale -

1 . 7 - 14
most acidic ) neutrat ) most alkaline

1 N

!

L -
t 1

After 30 minutes, Halim recorded his observétions in the tabie below.

End of experiment

Aquarium ; Number of guppies alive
P 10
Q} 10
R g
S Q
{3)  Whatis the aim of Hiim’s expernment? {1 man)
{b)  Whatis the purpose of settirig up Aquarium P? (1 mark)

(€}  What conclusion can we draw from Halim’s experment?
{1 mark}

20
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34 Kee Yong wanted to find out what type of food would attract flies. He
place different foods, E, F and G, on a table in the yard. Kee Yong
noticed that the food aftracted both houseflies and fruit flies. He
recorded his observation in a table, '

i Number of flies on
i Types of flies Food E _FoodF Food G
housefly 13 - g 5
frint fly 7 11 . 15

Based on the data above, put a tick in the comrect column to indicate if
each of the statement is *True’, ‘Fatse’ or ‘Not Possible to Tell' (2 marks)

Statements . . True False Mot

Possible
o Tell

i More flies were attracted to

Food E.
i | Fruit flies preferred Food F and - -
b Food Gto Food E, - °
it | Houseflies preferred Food E to - L

Food F and Food G. o
“iv [ When the amount of food was | : ’
increased, the number flies
would increase too.

35.  The diagram below shows the cross section of a semi-circular device
designed to cook an egg outdoors.

rays from the Sun

curved mirrors

(@) Whatis the use of the mirrors in the above device? {1 mark)

{b} State the energy conversions for the cooking of the egg. (1 mark)

21
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36. A beaker of ice was heated for 30 minutes. The graph below shows
how the temperature of the contents in the beaker varies with Ime.

Temperature
(e}
100 T =
L 1 ¥ X L | i ] L 3 3 |
] L] LS T LR § 1 i | 4 L) t e
8 5 1 15 20 25 30 Time (mins)
Based on the graph above, complete the table below. {2 marks)
Time {(min) Content}n beaker
fce :

5
15
25

22
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37.  The diagram below shows 2 beakers of water on a table.

100nl

ofBO“c\\_ _
¥ :—

water

evaporating

100mi of
5°C water

38.

Set-up X Set-up Y
{a) Draw the droplets of water observed on both set-ups above.
- . (2 marks)
(b}  Explain the formation of te GRaplets in Setup Y. {1 mark)

A ball bearing rolls from position P on a table and eventually stops at S
as showrbin the diagram.

O
i

7
Four statements about the energies of the ball bearing are given below:
Study the diagram above and indicate whether each of the statements
is True, False or Not Possible fo Tell. Put a tick(v') in the correct box.

{2 maiks)
| Statement ‘e True False | Not Possible
- {o tell
a | The ball bearing has Knefic energy
and potential energy at Q.
b | The Kinetic energy increases from R
toS.

¢ {The kineic energy of the ball
bearing at P to Q is more than at R
0S5, .

d {The potential energy decreases

fromQio R,

- 23
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39. Mrlee who was standing
the third floor.
{a) In the diagram below, draw the position of

{ the rope in the pul!ey
system which Mr Lee used to make his work easier {1 mark)

on the ground floor, wanted to lift a box to

{v}  State two ways the pultey s;ystem helps to make work easier?
{2 marks)
0

(@)

24
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40.  The graph below shows the percentage of undigested food that passed
~ through the digestive system of an adult.

Percentage
of
undigested -
food .

=
+
.
Ll
-
-
-

AAszanrwa
b aew
“e

»
¥

P R, S
. Partof digestive system

{a) Name the part of the digestive system that is best represented
- by Part Q of the graph? {1 mark)

{b)  Which part of the digestive system, P, Q, R and S would you
find the most blood vessels? (1 mark)

{¢}  Explain your answer in {b). (1 mark)

25
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41.  The table below shows some aquatic plants found in 3 pond.
[: Group A ' Group B
cabomba duckweed
elodea water hyacinth
hydrilla water lettuce

(@) Give suitable headings for Group A, Band C

(2 marks)

Group A -

Group B

Grou_p C

It was found that Group B plants grow uncontrolfably throughout the

pond. .
{b)  Which group of plant would be affected most? Explain your
answer.

(1 mark)

(€}~ How will the situation affect the fiShes in the pond? {1 mark)

26.
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42. The graph below shows the extension of spring A, when different
masses of weighls are hung from it. The onginal length of spring A is

Extension of
Spring {cm) . .
=R T

I

|

I\
{1

Ity
(3
-

o)
¥
L

10

1
Ll UL T

-

. = :
o $ : . = Mass of
) 20 40 60 80 100 Weights (g}

(@)  Whatis the length of spring A when 60g of weights are hung on
it? ' _ - {1 mark)

{b) The same set of weights was also added on Spring B. However
the extension of Spring B is twice of Spring A’s. Plot on the
above graph the extension of Spring B. Label your graph “Spring
8. - {2 marks)
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43. Richard wanted to lest {anti—sﬁp substanceg, G, H, tand J. He used a
glass block to move over 4 similar tiles coaled with the anti-stip
substances. He puilled the glass block back to the same distance
before releasing it He recorded the results in 5 table as shown below.

rubber band

hook
FRRY, ‘f

tile

L

glass block / - _ /4

Anti-slip substance | Average distance moved by the glass biock {cm) |
G ' 25
H _ 17
1 c 33
3 A 4 -

(a) Which anti-slip substance would be best for applying on the tiles
in the bathroom to prevent slipping? (1 mark)

by Bplain your choice in part (a). o {2 marks)

28
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44.  Study the diagram and answer the questions below based on the
diagram_

elastic
band

load

(a) Draw an arroi.v at wheel D fo show the direction it should turn in
order to lift the load straightup..- {1 mark}

{b) Would the effort required to lift the ioad be greater than or less
than the load? Explain your answer. (2 marks})

23
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45, Two identical ring magnets, A and B were sloited through a wooden
rod on a stand as shown in the diagram below. The two magnets gdid
not touch each cther. :

T wooden rod

{ A

ring magnet

i B

' ; Hooden stand

(@) Explain the above obsepvation of the two magnets. (1 mark) .

(b} What would you observe if a heavy ring weight was placed on
the ring magnet A by slotting.it through the wooden rod? Explain
your ohservation, . {1 mark}

———_END OF PAPER

Setters: Mr Jonathan Goh
' Mdmy Chia Li Hoon

30
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EXAM PAPER 2009

SCHOOL : NANYANG PRIMARY SCHOOL
SUBJECT : PRIMARY 6 SCIENCE

TERM = 8A 1

Q1 1Q2]1Q310Q4|10Q51Q061Q710Q81Q9{Q10iQ11{Q12{Q13{Q14]Q1s{016]Q17
1141 {1]13i2714121aia]l3ias]{a]l11]s3

Q18| Q191 Q201 Q21 {Q221Q23{0Q24 10251 Q26| Q27 Q28{Q2%]Q30
2 2 3 3 3 4 1 1 3 4 2 4 2

31)a)The time taken for the water to boil would be faster.
b)The wire gauze is a good conductor of heat, thus the time

taken to boil thewater would be faster as it is able te transfer heat
to the water quidly.

32)a)The leaves of the plants.
b)Bird nest fem.

c)1t is a non-flowering plant that is reproduce by spores.

33)a)To find out how the acid of amount of acid in water-affect the
guppies. | |
b)It is a control to compare the resuit with the other set-ups.
c)Guppies can’t survive at the acidity of 4 the higher the acid,
the lower the guppies that can survive.

34))F
)T
)T
iv)Not

page 1to 4 : o pagel
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35)a)To refiect sun light at the egg and cook it.
b)Light enargy->heat energy.

36)0 - Ice
5 --- ice and water
15 --- water
25 --- boiling water

37)a) .

0 pod 2t

j

W
[.T.1.9.1

beaker

warm cold

[ TR

Set-up X . setupyY

b)The surrounding water vapour touches the beaker, the cold

water cause the water vapour condense and became water
droplets.

38)a)T b)F Cc)Not d)T

39)a)

b)i)The effort needed is lesser.

i)The load moves in a opposite direction of the effort.

40)a)Stomach.
b)R

c)Digestion end in R and absorb digested foQrh
stream. ’
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41)a)A: Submerged plants.
B: Floating.
C: Partially submerged. '
b)Group A. As the plants ingroup B floats, it blocked the
sunlight and there will no sunliaht for group A to photogynthesis
and they will die. _ '
C)When 3all the plants in group A died, there will be no food for
the fishes and their population would also decrease not enough
oxygen, fish die.

42)a)14cm
) SR

o .= L5 - 0o Weights ;g
43)a)H
b)H has the most friction as the glass block moved the least
when H is applied. Thus, this will prevent people from
slipping.(surface) between the feet and the tile.

44)a)

Page3
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44) b)Effort will be lesser.
1)Wheel D is the biggest.

45)a)The like poles of the ring magnet repel each other thus
pushing magnet A up. _ _

b)The magnet will be pushed down as the ring weight is
heavies than the magnet.

ﬁage 4





